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Questions

 How is rate control in wired and wireless network?

 What is the rate control problem in wireless 

networks?

 How Cross Layer Design could be a solution?
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Rate Control in Internet

 TCP congestion control

end to end, implicit and dynamic window

AIMD

 Optimization framework

MCFC

Kelly
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AIMD

 Assume discrete time, 

 Linear adaptation algorithm is as follows

 Feedback signal is defined as

 ix n

 
 

1

0,   if  

1,   o.w.

I

i

i

x n c
p n 




 





       1i ip n p n
x n u x n v  

5/16



Conventional Method

 Algorithm constants evolve as:
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Optimization Framework , Example: 

User 0

User 1

User 2

)( 11 xU

)( 00 xU

)( 22 xU

cA cB

11/16



MCFC:
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Modified MCFC
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Simulation:
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Result :
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Questions

 How is rate control in wired and wireless network?

 What is the rate control problem in wireless 

networks?

 How Cross Layer Design could be a solution?
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Thank You!

Questions?
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